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‘ON LITHOOH .
Wihus 1opyhEAK

A% : 1 (TH) T

o
(1) e TR 100 ARER W 3TRd. Ihgant werE It fefgoar
T3 W aTRa fhan T I Wl e . dh P s
SUERCSLAZIC i
@) ST e T S A e st R
(3) R SIS GG ST gl SAeeR e s BN
@) (37) T TR T AT 4 TRA e gefaelt S @ 1, 2, 3 S0 4 3T HA foetd
R, 1 SR It weid A I HIE Ik G g Sl TG
FUE1. A THR IR IH-FHH T FAAT Al Geifd JeA-SHAIHEAR BTG FE
<SR TSet T Shee ST, ERRAT e <RIl IITE) aeToR aToRrey, AR o I O ST
@) TR RreaTETd wd st S meam fiRa e o, wn fervaren T weR audt sy
Wﬁwﬁﬁﬁmwﬁﬁﬂmm,aﬁwﬁwﬁamuﬁwﬁmma@m
(5) TS ST GYF 7 ST, ATEE qe SR It A, e I SR AT AT SEdT S W
———t ks R S A R R E b e BT e R R
(6) IR Uehe] FE FIe! I Gredl AU ). TG herel I T ToaH I e o qurred o
8. THUET S IR TG FEAH d I G U e 9 AT FehieAl It U1 S Shed e
) Wwﬁmmﬁﬁ%n@mmmﬁwﬁﬁammmﬁémﬂ@a
“SiZAR TS aETaRA e ST feiea IR Sl gatd Je e Sathd THE HEw.
ST R I Brefeed e gehredl SaUard! 25% feRa 1/4 77 st/ weaE e |

CIET

2w s fafea e 3 dauda € TeAgREe ST W SR B TlleTeReT HEEeT There) ST
oA A 2. A Gz vuudd agt Ayl W /o, feran gt SeAgfErRRAIer ShE ST TRVTCTE T SEt a1 STTeru
v ZrE G, T i F g TR G ST Tl T SRt IR S S gl g SR
ey FavamETET AfufEn-s2” AHie TEAFER aaY Tafi T aATHR ST HAT A5 d Gl s S U
e ETATATEA A1 /A A U g T S e O g
ATt fafga e e aavan s @ Tegften ST a1 T e ST T ST e st
TR, ada afiden wdagdegaad s aid YN =adifaeg Jaa stufTaneen wrar woam 380 7 g
e fngra am grge.




i 8

1. AT T geeteR! Hvrd R st SR 7

3, e qEEER, S, AR UighT, A AT HgH, WIS HEe, gmrq"f-—ﬁmmef
1867 st e AQ wrefar T TRTEE el

¥, el gk gare uier g ol

. TR SIS WU A1 6. Sl ai e R gummard dre aediE
o=t T e

T Wi T gas, ST, Hieery 39 wgiiEnerarE s e,

(1) 373t & wad

(2) & T F Fad

(3) 3, ¥ M & Hed

(4) T, & T S B

Which of the following statements are true about Prarthana Samaj ?

a. Prarthana Samaj was established by Dadoba Tarkhadkar, Dr. Atmaram
Pandurang, Vaman Abaji Modak, Bhau Mahajan, etc. on 31 March 1867 at

Bombay.
b. Prarthana Samaj started ‘Subodh Patrika’.

c. Through Prarthana Samaj N.M. Joshi established Social Service League to

improve the conditions of labourers.
d. Prarthana Samaj established colleges at Mumbai, Solapur, Kolhapur.
(1) aandbonly
(2) b andconly
(3) a,bandconly
(4) b, candd only

Tl HIMTATS AT / SPACE FOR ROUGH WORK PTO:;
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B fix merwien et TR He R e o 7

7)) 9 T, 1916 Ioft hER ¥& Fifem s wETOw W Afdgre A A feg TR
TG HFeAT HIiv e

¥) fig wem sraw a1 RLES 8.

%) i 49, Sl BT, . TR A Amgen 11 Asgek 1923 Usht fig wemaeh
gE el

¥) 28, 29, 30 fedat 1938 #ed fig wemi™ wer SrfEwH YO 39 IR v

(1) 3, 9 M+ e

(2) §, F M T e

i Lot

(8) 3, = 37T € Fad
(4) = 99 SO

Which of the following statements are true about ‘Hindu Mahasabha’ ?

a) On 9 April 1915 Maharaja of Kasim Bazar, Sir Mahindra Chand Nandi

announced the formation of Hindu Mahasabha at Haridwar.
b) B.S. Munje was the President of the Hindu Mahasabha.

¢) Dr.Munje, Dr. Hedgewar, Dr. Paranjape started a branch of Hindu Mahasabha 4
in Nagpur on 11 November 1923, €

d) 28,29, 30 December 1938 the Grand Session of the Hindu Mahasabha was J
held at Pune.

(1) a,bandconly
(2) b,canddonly
(3) a,canddonly

(4) All of the above are correct

Nk b e e e b e SR R Bl SR T

o< SHATA! ST / SPACE FOR ROUGH WORK | o

.
C i
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3. 34. 1857wmmmmmmmmmm?
. e, oo
¥, afleln, @itg 9y
%, Sed, SR U
T, facam fodl, wifem wamh
(1) 313 9w (2) @ 3nfor &% wera
(8) 31, § ATV & Had (4) €, % TN T Fea

During the uprising of 1857 which British Superior Military Officers played an
important role ?
a. Neill, Havelock
b. Outram, Lawrence Brothers
c. Campbell, Sir Hume Rose
d. William Digby, Colin Clark
(1) aandb only (2) b and conly
(8) a,bandconly (4) b, canddonly

4. 34. 1875 THiA AdH=A 33T HIVT W A B 7
H. fimd, i, o, R
9. 3CIR, g, IR0, |
. e, RS, S|, geei
B, 3fiier, wheid, ey, T
(1) 3 370 9 B (2) ¥ 3T % Had
(38) 3,9 AMT S%ad (4) 3T S He

In which area did the peasant revolts of 1875 take place ?
a. Bhimadi, Shirur, Parner, Nagar '
b. Indapur, Haveli, Baglan, Satara
c. Tasgaon, Shirala, Jath, Malkapur
d. Shrigonda, Karjat, Solapur, Ratnagiri

(1) aandbonly (2) b andconly
(3) a, banddonly (4) canddonly
THEeH1 HIATETS WM / SPACE FOR ROUGH WORK ' P.T.O.
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5. mmww@mmm/mwmmm? ‘
A, M gRAT SAM
¥, REEIg YR quw
. WYH HENE H3qS
3. WENI - Vg W e
(1) 3t 3nfr o S (2) 1, fvr = FHerd
(3) N, M T B (4) oo Td TR

In which of the following movements/agitations did Revolutionary Senapati Bapat
participate ?

a. Goa Liberation Movement

b. Hyderabad Liberation Movement

c¢. Samyukta Maharashtra Movement

d. Maharashtra — Mysore Border Agitation
(1) aandbonly (2) a,bandconly
(B) b,canddonly (4) All of the above are correct

6. 3. 9. 1919 T=A T5rdtw TR HeATeH s AR fe=n wo

. HABIHA TSI T WA= A area

¥, SOM 9 M S Jreamdte Il

%. e 9 99T I Idt

T, ulean HeggH Fmio et Toshr aifed |
(1) 31370 9 B (2) = 3T & B jj
(3) d, % AT 8 Had (4) T T AN

In 1919 the British Government started the Constitutional Reforms because {

a. Increased dissatisfaction among Indians due to the revolutionary
movement

b. Alliance between Congress and Muslim League
Alliance between Extremist and Moderates
. The political situation created by the First World War
(1) aandbonly (2) bandconly
(3) b, canddonly (4) All of the above are correct

AT HITETS! ST / SPACE FOR ROUGH WORK
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7. e i e Toseaaien ot o’ mmmwmwwmﬁaﬁ@
masﬁﬂala?ﬁ
(1) o Srged seh (2) wrarm g frverrt
(3) =M. %. A TE (4) WETH &

attended the Delhi Durbar in 1877, dressed in Khadi for ‘Shri Ganesha’
of the Swadeshi Movement.

(1) Ganesh Vasudev Joshi (2) Sitaram Hari Chiplunkar
(8) Justice K.T. Telang (4) Mahatma Phule
8. s Wl ¢
T gl Aftave - e Lo b
H. 1889 - Y9 M@ - gw I 3G
1891 - Y AFRETA - AT I G TR

.
®. 1895 - IR0 IAEYA - g0 I foeam dstE
. 1897 - AU ARGCRE - JHUE! IV. G sast

H d < 8
Q1 1 v I 111
(2 III I v II
3 Iv II 111 I
@ 1 I v 111
Match the Pairs :
Sessions of the National Congress — Place President
a. 1889 — Fifth Session — Bombay I. Anandacharlu
b. 1891 — Seventh Session — Nagpur II. Shankaran Nair
c. 1895 — Eleventh Session — Pune I1I. William Wedderburn
d. 1897 — Thirteenth Session — Amravati IV. Surendranath Banerjee
a b c d
1 II v 1 IT1
2 III I v IT
3 IV II I1I I

4 1I I v II1

THeed! HITEIS! AR / SPACE FOR ROUGH WORK P.T.O.
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T RS G T e frer dos SrRiCeA’ d T el T Hid ST
TTeiedsh! HIve Sy Tghd e Bl ?

A, FAGUT S, HIEE e

v, g Pt Top e

%, AR geniet, fagera siumae

3. TS A hagget, THEg i, TRET qEm

(1) 33« B (2) = 3 T wad

(3) A, § NN & B (4) 9, 3T S Herd

During the establishment of Labour Organisation ‘Bombay Mill Hand Association’
which of the following personalities supported Narayan Meghaji Lokhande ?

a. Keshavrao Bagde, Keshavrao Bole
b. Raghu Bhikaji, Genu Babaji
c. Narayan Surkaji, Vitthalrao Korgaonkar

d. Krishnaji Arjun Keluskar, Ramchandra Shinde, Narayan Pawar

10.

(1) aandbonly (2) banddonly

(3) a,bandconly (4) b, candd only
3.4, 1857 =41 3oMmd e 9 fiom It Wi Uaen sEa W I AwEA Fien IFAHar I
_ F TR ST Rl

(1) < TR (2) e

(3) @IS AR (4) TS HHAT

In 1857 uprising Governor General said that, had Shinde and Nijam
participated, then uprising would have been successful.

(1) Lord Dalhousie (2) Lord Ripon

(8) Lord Mountbatten (4) Lord Canning

el HIETETS ST / SPACE FOR ROUGH WORK

C




11. I S J
]
a. EREwm “i 128
b, fewrm weu i, 414
c. TGS iii. 573
d. ReEr iv. 1106
@ ®» @ @
@ i i i v
2 i 1 i v ¢
3 1 1 v i
4 1 1 1 v
Match the following :
State
a. Haryana i. 123
b.  Himachal Pradesh 11,414
c. Jharkhand i, 573
d. Bihar iv. 1106
(@ () () (@)
1) 1 1 111 iv
(2 iu i i1 iv
3 i 1 v i
4) 1 i1l ii iv

wrera g R R, (2011) |

Population Density per sq. k.m. (2011)

oAy

el HUTETS! SR / SPACE FOR ROUGH WORK

P.T.O.



12. I ST g ¢
Rrer, fawm
a. WR-gt
b. EhTER
c. Wﬁ
d. e
@ M @ @
(1) iv il i i
@2 1@ i i iv
@B i i 1ii iv
@ 1 i iii iv
Match the following :
Peak, Place
a. Mangi-Tungi
b. Trambakeshwar
c. Saptashringi
d. Salher
@ ® @ @
@1 v i ii i
2 1 i i v
3 1 i il v
4 1 i iii iv

10

ii.
iii.
v.

1i.
1ii.
iv.

L

0 (H)
1667
1416
1304
1100

Height (meter)
1567
1416
1304
1100

13. - ARgehIe Geara WRATT TEILT HIved] Iaqmiia el ?

(1) IW-9d Hrd Jeamr
(2) Tfeur twammt

(8) IV Teadm

(4) 9d o=

The row-row transportation started firstly in India on which railway route ?
(1) North Eastern border railway route

(2) Southern railway route
(3) Konkan railway route

(4) Eastern railway route

THeeAl HHTETS! SR / SPACE FOR ROUGH WORK

C
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14. IF S oo ¢

T=d TR T
a. W 9 HIOR | k W?ﬂtﬂr,ww:
b. T weu ' i, STETE, W WU
c. W i, oTeg, arerie
d. siEmn iv. ey, A
@ ®) @© (@
Q) iv il i1 i
@ ii v i i
@) 1 iv 1 i
@ iv m i ii
Match the following :
State Tourist Centre
a. Jammu and Kashmir i. Taran Taran, Baba Bakala
b. Himachal Pradesh ii. Ambala, Bhadkal lake
c. Punjab iii. Avantipur, Alachigompa
d. Haryana iv. Triloknath, Nainadevi
@ @) (@ (@
1) iv i i1 i
(2) il iv 1 i
(3 iii iv ii i
(4 iv 1 i ii
FEea1 HITETS! ST / SPACE FOR ROUGH WORK P.T.O.
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15. #@mm%mmmwmﬁﬁmﬁmmm?
1) 6 @ b5 (3) 4 4 3

As per the Champlon and Seth’s classification, how many maJOI‘ types of forests
- are present in Maharashtra ?

1) 6 @2 5 3) 4 “4) 3

16. wuaﬁaﬁvﬁm%wwmﬁawaﬁﬁw(zow%zoznmm
TRV W oI e P

(1) =N @ o @) Td @) @

Which city of India has been declared as cleanest city for three consecutive years
(2019 to 2021) by Swachh ranking of Government of India ?

(1) Indore (2) Pune (8) Mumbai (4) Surat
17. I SiS I :

et fasr kg e

a. IS i 30

b. 4RH . A

c. W i, S&mE

d. = iv. 3ThIel
@ ®) @ @

@ 1 ii 1ii iv

2 v i i1 i

3 1 v il i

@ i iv i 1ii

Match the following : Y

Thermal Power Station District

a. Koradi i. Thane

b. Paras ii. Nagpur

c. Uran iii, Jalgaon

d. Fekari iv, Akola
@ ) @© (@

1) 1 i1 1ii iv

(2 iv il ii i

@3 ii iv iii i

@ 1 iv i iii

oA HETES ST / SPACE FOR ROUGH WORK

n



L e

13

18, T R E 3 I, _
(1) HATEH ISTr=AT It (2) ik TSI ufPaden

(8) HAIeH YorT=AT e (4) HATeeh TSI gefer

Railseema Plateau is located in region,

(1) North of Karnataka Plateau (2) West of Karnataka Plateau

(3) South of Karnataka Plateau (4) East of Karnataka Plateau
19. WRAW@ Yo el geamd TIATIR AT A,

(1) 1971 (2) 1972 (3) 1973 4) 1974

White revolution started in India from year.

1) 1971 (2 1972 (3) 1973 4 1974

20. TERTST=AT TEE YSIET T WiTHed TR Seviiard! an Tiiies Qrern aT sl Sl
(1) ST 2 gmEiaE  (3) UFEE TE (4) e TTE
The local rock used to construct houses in rural area on the Deccan Plateau of

Maharashtra is
(1) Lateriterock (2) Marblerock (3) Graniterock (4) Basalt rock

91. It ToTh AT ANAT i g& hel ?
1) 5 TN
(2) TST TN

(8) Terrs faga @
(4) e <im fom

Who launched Ujwal Discom Assurance Yojana ?
(1) Central Government

(2) State Government

(3) Maharashtra Electricity Board

(4) Life Insurance Corporation

HeA1 HUETETS! AN / SPACE FOR ROUGH WORK P.T.O.
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22, mmgn@mﬂamgmmmmﬁmﬁwmmﬁwm

el Bt ?
(1) i TS @ ) w. T
(3) Ei. gEnE Swad (4) . arig 5o

Which of the following committee was appointed to recommend tax reforms in
India in August 1991 ?

(1) Dr. Raja J. Chelliah (2) M. Narasimham
(3) Dr. Sukhmoy Chakravarty (4) Dr. Abid Husen

23. 2011-12 = G HRRIRIE TR, Fremfia Qe snfor st drsmmrren s feemn 2k 2

(1) TEUSR 52%, frta 18%, wefies 30%

(2) TIUSTIR 30%, Frenfia 52%, Tl 18%

(8) TSR 20%, Famia 18%, wwifies 62%

(4) A A

What was the share of self employed, regular employees and casual labours in the
total workforce in 2011-12 ?

(1) Self employed 52%, regular 18%, casual 30%

(2) Self employed 30%, regular 52%, casual 18%

(3) Self employed 20%, regular 18%, casual 62%
(4) None of these

24, @ra deaEtd TS fimE-ae Te g& HOA 3.
(1) &M=, 2020 (2) AT, 2019
(3) ARE, 2022 (4) TR, 2021
National Mission on Edible oil-oil palm was launched in
(1) August, 2020 (2) August, 2019
(3) August, 2022 (4) August, 2021

THeedl HHMETS! ST / SPACE FOR ROUGH WORK

C
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25. i Tt srFw 2018-14 TR = IS TRV T evATd AT,
(1) IfeEE fi=m
@) T FN fawm Aom
(8) T Riean T Ieure
(4) Wi STpfa P vt A
Crop Diversification Programme was implemented since 2013-14 as a sub-scheme of
(1) Operation Greens
(2) Rashtriya Krishi Vikas Yojana
(3) One District One Product
(4) Bharatiya Prakritik Krishi Paddhati Programme

26. 2021-22 TAE W-3 (M) 7 T TR
. Ure AThe S=a o6 S
q. URE HAhE=AT TR S
. Wemeherd Jgd oat
T. dHmedd An St

(1) A, 9IS (2) % M S
(3) H,g3ue (4) =hetd vd

During 2021-22, M, included
a. Post Office Saving Bank Deposit
b. Total Post Office Deposits
c. Time Deposits with Banks
d. Demand Deposits with Banks

(1) a,bandc (2) candd
(3 a,bandd (4) all of the above

THeedl HMTES] A / SPACE FOR ROUGH WORK P.T.O.



% 16 J17 ‘
27.. 2023-24 =1 SrfEFHTA Geiieri! BRI T FH 3R ?

3. gdgHRYEs faewm

9. gRd 9

E IR C

3. anfis &

(1) 3Irafrs ) (2 s

(8) Iy (4) 31,9, % AW

Which of the following are priorities of budget 2023-24 ?
a. Inclusive development
b. Green growth
c. Youth power ‘ B i
d. Financial sector i
(1) aandd (2) bandec
(3) aandb (4) a,b,candd

28. 12e fod SR T 3mush Famer Fefih Aem < snfor T= Sreres =

JHITIG =] Javaret RIeRe el
1) 25:75 @) 50:50
3 75:25 - (4 90:10

The 12th Finance Commission recommended the continuance of the scheme of
National Calamity Relief Fund with contributions from the Centre and the States
in the ratio of

(1) 25:75 (2) 50:50
(3) 75:25 ‘ (4) 90:10

HE=TT FHIATETS ST / SPACE FOR ROUGH WORK

C
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29. Wrehereh www/ faum/a awia /a7
T, ARRNTEA, g TSR R T TR M B
(1) ®& 3 A MR (2) e § AT IR
(8) R 37 NN & I 3R (4) Fhl TR
Which of the following statement/s is/are incorrect ?
a. UTGST, is collected by Central Government and Union Territory
Governments.
b. IGST, is collected by Central Government and State Governments.
(1) Only a is incorrect (2) Only b is incorrect
(3) Both a and b are incorrect (4) None of the above

30. "FE Fr Fesiewmed sgammH g Fextesm . ; i
M Sfafsted g, \
A I
9. 34+
=, T
T, TEUEH
Q) Zaafis (2 9w (3 A, HINT  (4) ;, q AT
Multidimensional poverty index has three dimensions mirroring in the Human
Development index
a. Health
b. Income
c. Education
d. Living standards

(1) a,bandc (2) b,candd (8) a,candd (4) a,bandd

Heedl HIHTETS AP / SPACE FOR ROUGH WORK ‘ v PITNO;
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18 J_l’_.

.aéatzomns:}mummﬁwmﬁrﬁwmmﬁm , A A

ThaATq T 3T

(1) syl arfior AsTR A

(2) TS T RIS AT

(3) wem Wit IHIe AT

(4) TSR T USHIR Fier

In September 2001 the schemes of Jawahar Gram Samridhi Yojana and
Employment Assurance Scheme have been integrated with |
(1) Sampoorna Grameen Rozgar Yojana

(2) Swarnajayanti Gram Swarozgar Yojana

(3) Pradhan Mantri Gramoday Yojana

(4) Swarnajayanti Shahari Rozgar Yojana

32. ferciier TeTagrl SAI0T SSRTTeh AR e, 2003 (Th TR i TH e, 20083) 3@ T3 -’"

A1 I Ty, TR THd HEYE! ¢ X FUAHIE! AT SURRISHT 0 SaWH
2.

(1) 2004-05 (2) 2008-09

(3) 2010-11 (4) 2015-16

The Fiscal Responsibility and Budget Management Act, 2008 (FRBM Act, 2003)
stipulates that the Central Government must take appropriate meésures to

eliminate the revenue deficit by
(1) 2004 -05 (2) 2008 -09

(3) 2010-11 (4) 2015-16

F=<A1 TETETS 9T / SPACE FOR ROUGH WORK

C
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33. Wrefel Fepwi=aT SR 2011-12 a1 autard friem s gifee T v e

(1) TR I wiowfen amfho sy ¥ 816 @ wed smmErd T 1,000

(2) < oo vt o s % 47 @ wed s X 32

(3) <@ I Wil mmfior st € 49.63 @ WEG WAL X 56.64

(4) ¥R T

For 2011-12 planning commission had defined poverty line with the help of

following criteria.

(1) T 816 and T 1,000 per capita income per month in rural areas and urban areas
respectively

(2) T 47 and T 32 per capita income per day in rural areas and urban areas
respectively

(3) T 49.63 and T 56.64 per capita income per day in rural areas and urban areas

respectively
(4) None of these

34, T wew form SR IEE R oK e
H. cigd fries 3 IR 916
§. SrRIe 9 ATeard W fawmE
. ChHIBUE W T
3. A0 9ETa SRRl
(1) 3 %F (2) ¥ 31T € B
(3) & 3T & e (4) %

Special Area Development Programme has been formulated for
a. Poverty eradication and employment growth
b. To develop hilly and tribal area
c. To develop drought prone area

d. Industrialization in the rural area

(1) aonly (2) bandd only

(3) bandconly (4) donly

FoH FIHTETE ST / SPACE FOR ROUGH WORK P.T.O.



35. T el wus o 7
. HEWG s5 nr wrtafE w5
q. AR IR e @
H. TR P eSS
(1) 3w (2) « 3N F Fad (3) T Fekd (4) HWEWW

Which are the instruments of fiscal policy ?
a. Public spending and public debt
b. Democracy and federal structure
c. Taxation and budget
d. Parliament and administration
(1) aonly (2) bandconly (3) donly (4) aand conly

36. TIIYOT GEHRE HHING STeiea I6T 37 v St Safd e 7
(1) =fes (2) @i (3) We (4) AT Fa

Prabha Atre, who was conferred the Padma Vibhushan is associated with which field ?
(1) Literature (2) Music (3) Sports (4) Civil services

37. 2022@m‘aﬁawmwwv&qéﬁ’mmﬁvﬁma¢% ?

1) F@ (2) 3TEHGETG 3) Hwg 4 o .
Which city is the host of ‘All-India Official Language Conference’ held in 2022 ? "_"
(1) Surat (2) Ahmadabad (3) Mumbai (4) Pune

38. ﬁ@qﬁmwmﬁammnaﬁaﬁwm@mgwmﬁaﬁm ?

(1) wEsfam O 2) foue wigeh

(3) wig wew (4) I, e

Who has been named as ‘India’s mosgt valuable test player of the 215t century’ by
Wisden ?

(1) Mahendra Singh Dhoni (2) Virat Kohli

(3) Ravindra Jadeja (4) R. Ashwin

oAl HHMER AR / SPACE FOR ROUGH WORK

C
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39, FT T ‘STgeTe Rew A% I fAE (ASER) wfg FW 7

(1) et I (2) woH

(3) SFAHH THIAA (4) IFE®

Which institution releases the ‘Annual Status of Education Report’ (ASER) ?
(1) Niti Aayog (2) Pratham

(8) Oxfam International (4) UNICEF

40, ST TEN o T SeaRlY e -HiER A T el ?

(1) IETLIT 2) IHE® (3) I.TH.TH. (4) I TA.TEH.
Which institution established the high-level Kyiv-Moscow Dialogue on Nuclear
Safety ? |

(1) TAEA (2) UNICEF 3 IMF (4) UNSC

41. W-lQmmmwwﬁmaﬁ% el ?

(1) 30 SHIR 2020, HeS @) 31 fedsx 2019, ¥

(3) 30 JRETd 2020, T @) 31 fedsw 2019, e

When and where was the first patient of Covid-19 epidemic found in India ?

(1) 30tk January 2020, Kerala (%) 315t December 2019, Kerala

(3) 30tk January 2020, Goa (4) 315t December 2019, Goa

; mﬁg-mﬁaammm@mﬁmmmmmm@

IR USal AR 7

(1) «rd - Fo () WRE - AWH

(3) WA - FHORAH (4) WA - i fwn

Al Mohad Al Hindi the first naval exercise between which‘ tWo countries was held
in August 2021 ?
(1) India-Iran (2) India — Oman
(3) India — Afghanisthan (4) India — Saudi Arabia

el HIMTETS ST / SPACE FOR ROUGH WORK PT.0.
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43..21ﬂ3ﬁnéﬁﬁﬁmmq%mgméﬁamaﬁwa1% 7

(1) TR F=W (2) UHA Tgd

(8) aTh Swifaw (4) g I

Who is the first male Tennis star to win 21 Grand Slam titles ?
(1) Roger Federar (2) Rafael Nadal

(8) Novak Djokovic (4) Andre Agassi

44, FIE THH R ¥ T @ WEw g el 7

(1) Hags (2) WRGRIETR

@) fex 4 T

Which technology platform launched the ‘J agruk Voter’ campaign ?
(1) Facebook (2) Microsoft

(3) Twitter (4) Google

45. ISHSM MElaeied] FEU Yalagee 2021 7Y TWHEsF &1 GHF TAT TONR e[ __

SOITd HATAL. ‘

(1) 3o TET Wee (2) TUE.HE. 919 W

(3) AR faen (4) AR ffim

Ashok Chakra was posthumously awarded in 2021 for the extra ordinary bravery
displayed during the war to

(1) Altaf Husain Bhatt (2) A.S.I Babu Ram

(3) Jyotikumar Nirala (4) Ashwini Kumar Dixit

46. 2021 — 22 =1 T3 TEHR frpvmt wdt wnfafRres wior 25 »

(1) gHIe dr (2) =& . iERW
(3) LA et (4) forey R

Who was the Marathi Literaturer to win the Gyanpeeth Award in 2021 — 22 9

(1) Damodar Mauzo (2) V.S.Khandekar
(3) Laxmanshastri Joshi (4) Vinda Karandikar

THeedl THMTETS! MM / SPACE FOR ROUGH WORK

C
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wmifass darg it f gewr - 2022 @ wmfve TR goey S sy asrE
e el o 2
(1) =EIIW (2) oETS
(3) g (4) wEs
Which Indian State has been selected by WHO for World No Tobacco Day
Award — 2022 ? :

(1) Madhya Pradesh (2) Chattisgarh
(8) Odisha (4) Jharkhand

48. WRAAIS Yiged G-I WITH 3 U1 HIvedl TEUd HOAW A ?

(1) S (2) T

@) & @)

India’s first gold ATM has been inaugurated in which city ?
(1) Varanasi (2) Hyderabad
(3) Lucknow (4) Kochi |

49, SIS SoTe TS T Yeret TEHR 2020 T FIG HE AW ?

(1) T dga

(2) =S grt

@) foue =weeh

(4) Tfea i

Who among the following was awarded the Rajiv Gandhi Khelratna Award 2020 ?
(1) Sachin Tendulkar

(2) Mahendra Singh Dhoni

(3) Virat Kohli

(4) Rohit Sharma

oA HMTETE ST / SPACE FOR ROUGH WORK

P.TO.
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50. 2020 THiE TiHER TR F q FaH FHEA TN FY IJAHA G AEGhEE 7

TS Ty g8 .
(1) Frem g (2) formm ™
(3) Tram wiwe 4) Fi Je=H

During the lockdown in 2020, the Ministry of Agriculture and Farmers Welfarek
launched this mobile application for easy transportation of agricultural products.

(1) Kisan Express (2) Kisan Rath
(3) Kisan Connect (4) Krishi Network

51. Wmmﬁwﬁw%mw?

A. TR

9. FAleh

%, WS

3. T9EH

(1) ®Fa@ A AT

(2) wed & MU T

(3) H, s

(4 wNST

Which among the following States do not have Vidhan Parishad ?
a. Bihar
b. Karnataka
c. Kerala
d. Rajasthan
(1) Onlyaandb
(2) Onlycandd
(3) a,bandec
(4) Onlyd

oAl HHTATS W / SPACE FOR ROUGH WORK

C



52, 3T SIS AMEL

A, 61 N HeAGER 1. U dws dan srvmder Tee da P
T 60 T 62 =
. 44 ft geAgEi 2. Prealia duma s SR
41 <t gergERd 3. wagNM 99 21 9% 18 T4 el
3. 73 d "eAgE 4. Tsgaeh, SIS e dAwE A

FraguEh freft o waiea @ I=4 =EEE™
1l A-4,¥-3,%-1,8-2
@2 F-3,9-4,%-1,5-2
@) A-2,9-1,9-4,5-3

@) R T SFUJIEEY

Match the pairs correctly.

A. 615t Constitutional Amendment 1. Retirement age of Members of
State Public Service Commission
increased from 60 to 62 years

44th Constitutional Amendment 2. Three tier Panchayat Raj System

C. 415t Constitutional Amendment 3. Voter age changed from 21 to
18 years

D. 73" Constitutional Amendment 4. Controversy in Supreme Court
! | and High Court regarding
election of President, Vice
President and Prime Minister

(1) A-4,B-3,C-1,D-2
2) A-3B-4,C-1,D-2
B A-2,B-1,C-4,D-3
4 A-4,B-1,C-3D-2

THeeAl THHTETS! AT / SPACE FOR ROUGH WORK ‘ ‘ P.T.O.
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53. TWEN ANHR PN e e @reltet fum frem
q. UTHYETEAIAT Wik IS SO U,
F. THIERHE Sada muftes weie et a0,

TheH e fam fae.
(1) w4 A @ wHEE
(3) HH F (4) FTOhT AT

Consider the following statements about the powers and duties of Sarpanch.

a. To implement the resolutions passed in the Gram Sabha.
b. Protect the property owned by Gram Panchayat.

c. To supervise primary schools in the Gram Panchayat area.
Select the incorrect statements given above.

(1) Onlya (2) Onlyb

(3) Onlyc (4) None of the above

J17

54. Wciicidehl IV GERRIAT ™I 966 Tegd 7

(1) =i, <. e (2) S WH. AW o

(3) T gEHwH (4) R TR

Who among the following was not a member of Sarkaria Commission ?
(1) Shri B. Sivaraman (2) Dr. S.R.Sen

(3) Rama Subramaniam (4) None of these

55. e ST wided TIe HUITETE! VT et GURUT Hoae e 7

(1) &cH - 324 971 - 10 (2) ©helH - 824 I - 15

(3) e - 300 97T - 9 (4) HEH - 298 W - 6

Which article was amended to clarify duties of the Election Commission ?
(1) Article — 324 Part — 10 (2) Article — 324 Part — 15

(3) Article — 300 Part — 9 (4) Article - 298 Part — 6

THeS1 HATAIS! AN / SPACE FOR ROUGH WORK:

C




56. 3T S Tl

% 27 J17

I oy gleq . afei-anfes ae
. %eie gu® |, % TS S
. TS i %, fofew o

v. = B, e aw@e

Q) I-¥0-3, -5, IV-%
@ I-%, 0-3, U-F, IV-§
@) I-3,I1I-% -9, IV-3
(@) I-3,10-H -9, IV-%

Match the correct pairs.

I. Thomas Hobbes A. Anglo-Austrian Philosopher
II. Friedric Hayek B. Father of French Revolution
III. Robert Nozick C. British Philosopher
IV. Rousseau D. American Philosopher

1 I-B,I-AI-D,IV-C
@ I-C,I-AI-D,IV-B
3) I-D,II-C,III-B,IV-A
(4) 1-D,II-AII-B,IV-C

57. AT TRy qiaeear SRt iR s v ga 7
(1) . T e (2) o ot IR, ISR
(3) VETEEE A% (4) T, A1, WTTBIHR

Who among the following headed the Committee on the functions of the Constituent
Assembly of India ?

(1) Dr. Rajendra Prasad ‘ (2) Dr. B. R. Ambedkar
(3) Jawaharlal Nehru (4) G.V.Mavalankar
. Tl RMMETG SN / SPACE FOR ROUGH WORK : 2 20 VL0
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28 Jl

(1) SMHar, 1947 (2) =, 1947
(8) @R, 1947 (4) AT, 1947

The first draft of the Constitution of India was prepared in ___bythe Advisory
Branch of the Constituent Assembly.

(1) January, 1947 (2) March, 1947
(3) September, 1947 (4) October, 1947

59.

3. TSRS TRETO F GO
9. SHd TEeHH 9 AeeHie g gun.
%. IS AT, SR 3T e veerean i fea e,
T. T AFRIHEE G9H AN R | .
(1) A,9,%,3 2 § 3% (3 S, %9, 3 4 9,%,3, A
Arrange in appropriate o_rder as per Sr. No. of articles of Directive Principles of
the State Policy given in the Constitution of India. '
a. Protection and improvement of environment.
b. Improving living status and public health.
c. Protection of economic interests of SC, ST and weaker section.
d. To implement uniform civil code for all the people.
(1) a,b,c,d @2 d,a,cb 3) d,c,b,a (4) b,c,d,a

60.

AT - THHIE AT AT HSEE! SV AR HeTeHS GIRUTTTTIH SEaTd T
fég HoATd e :

(1) 71918 (2) @E 1918  (3) T 1918 (4) IR 1918 ©
The report on Indian Constitutional Reforms known as the Montague-Chelmsford,

was published in
(1) June 1918 (2) August 1918 (3) dJuly 1918 (4) October 1918

TS HIHTETS! 9T / SPACE FOR ROUGH WORK

C
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61. T TE IR Joaash o /A ?
. WEWIE WA TS - Hen 15
9. GHSETET B9 - Had 19
. Sfifad wemomen sifer - wem 20
S, YIS YT AUHR - Hew 32
(1) 3 %aq (2) somfrs wF (3) T Wk (4) %
Which pair is/are incorrectly matched ?
a. Prohibition of discrimination — Article 15
b. Right to Association — Article 19

c. Right to Protection of Life — Article 20
d. Right to Constitutional Remedies — Article 32

J17

(1) aonly (2) bandconly (3) conly (4) donly
62. TSl YA Wiciieideh! e GHE T ?

A HEW 9. 9l

%, S g, Teare@r sfor Aiert
(1) s HFMTH (2) wFd A (3) ®Fd® (4) FF S
Which of the following is not included in the Concurrent List ?

a. Contracts _ b. Forests

c. Tolls d. Bankruptcy and insolvency
(1) bandc (2) onlya (3) onlyc (4) onlyd

63. TETET 9gd Wieiieidsh! HIv U™ | 3R 7
(1) ‘memaecarEl’ Pl TR Tegadt i
() TSI eai Heyia Feredn W hECH AR I TSIEREBRE deell qar
(3) T i A e wreeit Afimest et areft S Hdsd @ UR redd
(4) wfgur fhar T HIVATE HEER AT el R d IR 9rEdra
Which of the following statement is not correct about the Advocate General ?
(1) The ‘Advocate General’ is appointed by the President of India

(2) He gives advice to the Government of the State on such legal matters which

are referred to him by the Governor

(3) He perform such other duties of a legal character that is assigned to him by

the Governor

(4) He discharges the functions conferred on him by the Constitution or any other law

TFHeedl HETATS! SR / SPACE FOR ROUGH WORK

P.T.O.

C
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64, TGS I RARITERIATSA wWielietd aon fawr o Am - ? e
(1) 39 =men) ‘sFiva st gl aife fEere i
(2) Ie e yaw Rmnfer frgh usged S
(3) TSAR TRl S Srerren At frad)
(4) Fe9 TR ARt AR T 62 I
Which among the following statement is not corre
(1) High Courts may accept a potition related to ‘Public Interest Litigation’
(2) Every Judge of a High Court is appointed by the President
(8) Governor of the State appoints the Judges of a High Court
(4) The age of retirement of a High Court Judge is 62

ot about a High Court in India ?

)

65. A TAETHS N adl 24 uftver 71 R wreferteh v fad Fev wwe e St 7o
(1) TR S "k o @) TSR e T e |
(3) T wegR fom (4) TS wawer &
Which of the following day is celebrated by the Government of India every year
on 24" April ? [
(1) National Public Relation Day (2) National Panchayat Raj Day
(3) National Voters’ Day ‘ (4) National Literacy Day

66. Tuatifag=mn To=r@ arg w HvE 38 7
(1) <ifen, =hifen, smamfen, fEwife, srmmmnfm
(2) wifen, srawmefia, dhfs, e, smeka
(3) wwifeq, smnfen, d=fem, fewnfen, srrm R
(4) A, fewife, e, srmis, @i

Which is the correct order of phases of meiosis ?

(1) Leptotene, Pachytene, Zygotene, Diplotene, Diakinesis
(2) Leptotene, Dinkinesis, Pachytene, Diplotene, Zygoteno
(8) Leptotene, Zygotene, Pachytone, Diplotene, Dinkinesis
(4) Diakinesis, Diplotene, Pachytene, Zygoteno, Loptotonoe

THeedl TWIFATATS! ST / SPACE FOR ROUGH WORK

C
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67. 3TEHH T <A1 SyErETd ST Riem Fed .
(1) s 2) hfyanenfma
@) Rt (4) =hE HEE
Antimony compounds are recommended for the treatment of
(1) Elephantiasis (2) Fasciolopsiasis
(3) Schistomiasis (4) None of the above

68. TTURUIYU! YIHIHEY AN HYTYe TR BT 7

() SRR (2) nfehairaTECH
(8) WHIETEH (4) frmepRETRCE
Normally in porifera the gametes are formed by
(1) Choanocytes (2) Archaeocytes
(3) Myocytes (4) Pinacocytes
69. MG Yods 1°C IIEES! gadia ea-at o .41, /Uehe o TEdl.
(1) 6.1 (2) 0.61 3 61 (4) 16

For each 1°C rise in temperature, the speed of sound in air increases by
cm/s. .
(1) 6.1 (2) 0.61 (8) 61 4 16

70, Tafire sors, .5y, gmelidie T ? IR,
(1) Fode/im (2) e/ faft afcas™
(3) ol faft afcasm/im (4) a{iedehl v AT
Unit of specific heat in C.G.S. system is
(1) Calories/gram (2) Calories/gram °C
(3) Calories °C/gram (4) None of the above
HeeA1 HHETEH ST / SPACE FOR ROUGH WORK P.T.O.



71.

I Ic N PN QU —— .

(1) e fega o @
(2) ToratueTde forga ot w
(3) g faea e iy
(4) e fvaiauEr ot

The power expended by a current in a resistance is proportional to
(1) Square of the current in the resistance

(2) Cube of the current in the resistance

(3) Square root of the current in the resistance

(4) Square of the potential difference across it

72. ST GHAT 81 AR ST S gqmige gl ?

(1) Eirsieg ifEd (2) wEden wghE
(3) WIhIHE TSI, (4) Wi S
Whooping cough disease is caused by which of the following bacterial infection ?
(1) Staphylococcus aureus (2) Bordetella pertussis
(3) Streptococcus pyogenes (4) Salmonella species
73. TGl SV Sedcd AlFaey Sfdsiid Hum 3R ?
(1) SeFEa T (2) SitemdcT &t (3) wfiegca 3 @) Seaa s
Which of the following vitamin acts as an antioxidant ?
(1) Vitamin A (2) Vitamin D (3) Vitamin E (4) Vitamin K
74. 2l I qeed] HSSIE, TaAEe AT Hadl Sl Gl SRR qg

{Iadid.
(1) FH=feArisg (2) offiariseH

(3) =i (4) HIH-ITcheiiey

are drugs which bind to receptors present in central nervous system 7
and gastro-intestinal-tract, :

(1) Cannabinoids (2) Opioids
(3) Morphine (4) Coca-alkaloids

FHoedl SHETATS! AT / SPACE FOR ROUGH WORK

C
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75. wmmﬁmma@rﬁmmﬁ
(1) @, 56, Ff@ (2) ai, frver, s (3) @i, s (@) @, Fha

German Silver is alloy of

(1) Cu,Zn,Sn (2) Cu Ni,Zn  (3) Cu,Zn (4) Cu, Sn
76. 3R 3 Tt A1 |
(1) 3N-3Fdde dherfrehis afnde @) 3N-3ura dfafeds s
3) IN-Frurde dfifrefs Jids 4) oN-dziée Glfieies e
Chemical name of aspirin is '
(1) O-Acetyl Salicylic Acid (2) O-Ethyl Salicylic Acid
(8) O-Methyl Salicylic Acid (4) O-Benzoyl Salicylic Acid

77. AT IO g - I I Srewedt A G HioR e 7

(1) Fi=s 2 «fEm (3) T (4) el
The terms Hard and Soft — Acids and Bases were given by
(1) Bronsted (2) Lewis (8) Pearson (4) Franklin

78. aTe FiimEmmed ‘TRawied’ 81 e Wieliclish! v aHed 4l ?
(1) TFERIBRET (2) FFEE (3) RrameRE (4) BESET

‘Chaetophorales’ group belong to which of the algal class ?
(1) Chlorophyta (2) Charophyta (3) Cyanophyta (4) Rhodophyta

. 3t qrvETS Seddt 9a gar SR
(1) oA AT AHE SERf ST B
(2) g FArFHHIET e g
(3) VIS @l T e g
(4) TTEIdrA AEEE AEES TEA! F9 @S VAT 9T

A plant is killed by over watering because

(1) Water neutralizes the pH of the soil

(2) The roots are deprived of oxygen

(3) Water supports the growth of root parasites

(4) Water does not have all the necessary mineral for plant growth

S‘ )

THeedl HHTETS! ART / SPACE FOR ROUGH WORK P.T.O.
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80. TR TR SRuATET Wrefieisht wivry fars smedia S 3T e ?

1) FRBEH (2) wHaEieaHdt

3 =|EwHEEH (4) HrETHEREEH

Which group of Algae plays a dominant role in Nitrogen Fixation ?

(1) Chlorophyceae (2) Myxophyceae

(3) Rhodophyceae (4) Phaeophyceae

&) e s

0.1 x 0.1 X 0.1 +0.02 x 0.02 x 0.02

0.2 X 0.2 X 0.2+ 0.04 X 0.04 x 0.04

(1) 0.3875 (2) 0.125 (3) 0.250 (4) 0.500
Solve :

0.1 x 0.1 x 0.1 +0.02 x 0.02 x 0.02

0.2 x 0.2 X 0.2+ 0.04 x 0.04 x 0.04

1) 0.375 (2) 0.125 (3) 0.250 (4) 0.500

82. T SHIT=AT STT=A1 S 39 72 ¥ o112 o Wra Swigs wi=ar 99 oK 4 : 6 : 7 3
T, 9 S A= 99 Rt ?

(1) 20, 30, 22 2) 22,24, 26 3) 19, 25,28 @ 17,25, 30

The sum of present ages of 8 persons is 72 yrs. Seven years ago, their ages were
in the ratio 4 : 6 : 7. What are their present ages in years ?

(1) 20, 30, 22 (2) 22, 24,26 3) 19, 25,28 @) 17,25, 30

83. U HIVET Hhhegd . H1. B. W. 12% T AT o Oaat. 3 a9iHaw < o3 5,400 T
=TS Heel. a I Fdeied] ot Whd fpdt ?

(1) ¥4I 12,000 (2) ¥4 20,000 (3) T 15,000 (4) ¥ 10,500
A man took a loan from a bank at the rate of 12% p.a. simple interest. After

3 years, he had to pay Rs. 5,400 as interest. Find the amount borrowed by him.

(1) Rs. 12,000 (2) Rs. 20,000 (3) Rs. 15,000 (4) Rs. 10,500
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84. gle,ooomﬁmﬁwmmm 5% +ft wrft B, W QA i @ e
?

(1) 15,400%. (2) 18,640%. (8) 14,440%. (4) 15,5640%.

tI‘he value of machine decreases at the rate of 5% every year. If the value of machine
is Rs. 16,000, what will it be after two years ?

(1) Rs. 15,400 (2) Rs. 18,640 (8) Rs. 14,440 (4) Rs. 15,540

85. JATTIIEIN YT WIR 20% RIS, Jra1 wer o A= 10%  25% 3 Jmefidt @ geardr=n
T WIS ROt foeft sl wre gt ¢
(1) 65 (2) 55 : (3) 60 (4) 50
The railway fare increased by 20%. Again in next two successive months, it is

increased by 10% and 25% respectively. What is the percentage increase in the
original fare ?

(1) 65 (2 55 3 60 (4) 50

86. el : |
(-2-3)x(5+3)+(-2-3)
(-6-4)+(-7-5)

Rl !

- @) 96 @ 6.9 3) —96 4) 9.6
Solve :
; (-2-8) % (5+8) = (~2—3)

(-6-4)+(-7-5) _
(1) 96 2 6.9 (3) —9.6 @) 9.6

87. TS B 19 <A1 SETd 98 9TaT Sl ST e = Tued 4 3 9. W 19 = SEH®
= e o 3R 7
(1) 22 2 24 (3) 25 (4) 26

A batsman makes a score of 98 runs in the 19th innings and thus increases his

average by 4. What is his average after 19t® innings ?

(1) 22 (2) 24 3) 2b (4) 26

FHe! HIATATS! ST / SPACE FOR ROUGH WORK P.T.O.
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88. T T e § 3 hl, 4 Auft 7 12 e e v i AT ST
EISECE R Ol e e R fwedt ? |
(1) 17 Qe (2) 14 2ft 3) 13 (4) 16@h .
Find the radius of circle whose area is equal to the sum of area’s of three circles .
of radii 8 cm, 4 cm and 12 em.

(1) 17cm (2) 14cm (3) 13cm (4) 16cm

89. T & ‘W . A s anfr e adwrE ThE '’ doft ardrer, @l Hrowd .
1 ST e g ,
1) 1% @ 23 @) 3 (4) 4%h
If area of circle is ‘%’ sq.cm and perimeter of corresponding circle is ‘x’ cm, then
which of the following will be radius of circle ?

(1) lcm (2) 2cm (3) 3cm (4) 4cm

90. TSI THHERH 15 I 2,340 T Rihe=a 60 %, AT Trell. @ e yoet @el fhma
foelt 2
(1) 152%. (2) 160%. (3) 180%. (4) 230%.

A shopkeeper sold 15 shirts for Rs. 2,340. He suffered a loss of Rs. 60. What is
cost price of each shirt ? '

(1) Rs.152 (2) Rs. 160 (3) Rs. 180 (4) Rs. 230

91. Tel gF Taam 3T g9 I Reh amRa. A vt i
e e Ha‘ﬁmasman%a.

3. %aﬁé’rm%a&ﬁmm.

(1) %= = d (2) ®H T HH

(3) N T G I (4) = M T O g :
Two statements and two conclusions are given below. Find out suitable :
alternative.

Statements: A. All teachers are artists,
B. Few artists live happily,
Conclusions : C. All teachers live happily.

D. All those who live happily are artists.

(1) Only C true (2) Only D true
(3) Both C and D are false (4) Both C and D are true

ST THIFTETE! ST / SPACE FOR ROUGH WORK
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. éﬁmmwﬁwﬁWWaMWMﬁmmmWrmm,mﬁw
T4 66 T AR, ifvarea war A auiias @ fRd sl 7

1) 10+ 2 14a% @) 124t (4) 164t
Ankita’s 'mother’s age is two and half times Ankita’s age and four times her brother’s
age. Their total age is 66 years, What will be Ankita’s brother’s age after 2 years ?
(1) 10 years (2) 14 years (3) 12 years (4) 16 years

93. Tt fowtewn mifteiren sessfigges anam s 3 Wy IR o,
1. A B,C,D, E, Faftt G um firfa awat amia 7 =0 =l die g ams.
ii. C¥ D = achles Ioins amme.
iii. B 3 Ihren IR T e 99 E ST
iv. G E 3nfo F =1 neamg o,
v. D qimwdie demm R e .
‘G’ =1 39S FIv TS IR ?

Q) A @.. C @ D 4 F

Study the following given information carefully and answer the questions that
follow.

1. A,B,C,D,E, F and G are sitting on a wall and all of them are facing east.
1. Cisthe immediate right of D.
1. Bis at extreme end and E as his neighbour.
iv. Gis between E and F.

v. D is sitting third from the south end.

Who is sitting to the right of ‘G’ ?

(1) A 2 C 3 D (4) F

94, W 2016 1 AY AT AT T WA e, @ = 9l UK fagm R Siven ar
wad 7
(1) TpRaR (2) =fFER (8) MmEw (4) HHER

The International Yoga Day falls on Tuesday in 2016, then on which day will the
National Science Day fall in the same year ? '
(1) Friday (2) Saturday (3) Sunday (4) Monday

FeeAl shmTATdl M / SPACE FOR'ROUGH WORK P.T.O.
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95. S 4, 5, 8, 13, 14, 17, 22,..., & mRH anhe & Saeh @ @refats B Fe @
TTfeTahet TEOR 1) 7

(1) 381 (2 32 (3) 33 (4) 35

If the series 4, 5, 8, 18, 14, 17, 22,..., is continued in same pattern, which of the

following is not a term of this series ?

(1) 31 (2) 32 (3) 33 4) 35

(98) R, “UNIDENTIFIED” 1 Weqrel wef 31 qoiATegam anTett STeiet, forelt areatr=ht

fordt safds udiea 7
1) T - (2) <
(3) @M . (@) SR

If all the letters of the word “UNIDENTIFIED” are arranged in alphabetical order,

then the position of how many letters will remain unchanged ?
(1) One 2 Two
(3) Three (4) Four

97. W= qdhs HIE ST ATerd STa or ff forean erean se[en 90° @ Fedt. Ta &t 50 1. 9o,
A 1 forear Sore AN 136° @ S@d M 15 H. Ao . star frean e wsen

v feam fdw @ 7
(1) = (2) aE=
(3) F=H™ (4) Mg

Sanvi walks some distance towards East and turns left in 90°, Then she walks

50 m. Now she turns right in 135° and walks 15 m. Now her left hand indicates
which direction ?

(1) North-east (2) North-west
(3) South-west (4) South-east
Feedl MG 91T / SPACE FOR ROUGH WORK abhoole \)
’ s st 53 ™MHNO
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ddee ¥ nnty
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98.. et 37 et anfn i weer yata Re ama. worn wata A7 s sregEwa gEiRE 2

Q) sfoem, e, ofeTE (2) W, Sl Ty
(8) &, g, qigq (4) 9, s5ht, =@

Below Venn-diagram and three words are given in options. Which option represents
the Venn-diagram correctly ?

(1) History, Geography, Civics (2) India, Asia, Europe
(3) Flowers, Fragrant, White (4) Cup, Saucer, Tea
99. FigFar=A Y fordt 9| 3@ 7
(1) 1092 (2) 204 (3) 1296 (4) 1500

How many squares are there on a chess board ?
(1) 1092 2 204 3) 1296 (4) 1500

100. fecrean Jofidiar goha ge wien.
15, 21, 24, 30, 32, 39, 51
(1) 30 (2 39 (3) 24 4) 32

Find out the wrong term in the given series.
15, 21, 24, 30, 32, 39, 51

1) 30 @ 39 B) 24 ) 32
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